AF-2298 BCS1C1

B.Com.(CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION, NOVEMBER 2010

First Semester

Corporate Secretaryship

BASIC FINANCIAL ACCOUNTIN%

(CBCS—2008 onwards)

Time : 3 Hours Meximum : 75 Marks

Part A (10 x 2 = 20)

Answer all qauestions.

1. What is meant by Journz! ?

SOILCL® eTevTLIg; wing) ?

2. What is Trial Balance ?

Bmoumiie] 6TeTm M6V 6T65T6TT ?



What is interest suspense account ?

QlL_lg S|ETIMDSS &6T015(S) 6TEUTMITEV 6T6BT6HT 2

What is an “Error of principle” ?

Nl FlSenLp eTevTmTED 6T6BTEST ?

What is Bill of Exchange ?

IHNIESFL_ (D 6TTTDTEV 6T6di M ?

What is meant by disceunting the bill ?

6765 Ul 2_6tTIq UIED S6TEMHLILG 6TESHTE) 6T65T6NT 2

What s ineant by Joint venture ?

B e esvTe e 6vT S E5TE(F) ETEUIMTEV 6TEBTENT ?
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8. Who is Consigner ?

I CFEwmT eTevTLIOUT WM ?

9.  Define : Farm Accounting.

LIGTST606UBT &658T8h(&)SH6TT - D60&H S6ETVTLD 616D

10.  Who is Consignee ?

SISO ClUMIBT 6T6TTDTEL 6761 T50T ?

Part R (5x5=25)
Answer all-questions.
I1. (a) Journalise the fiiowing transactions :
2010 Rs.
Jan. 1 Business~iarted with Rs. 2,50,000

and eash deposited with Bank 1,50,000

3 Purcnased Machinery on credit

from Rangan 50,000
6 Bought furniture from Ramesh forcash ... 25,000
12 Goods soldto Yesodha 22,500
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SPSHTEILD HL6UIGHMSBHEHSHE GDILCLH LSla|senens

S([hHS.

2010 -

meveufll  eSlwrumyd gy T8 @EDLELTE 2 6o

eLPeVG 6D . 2,50,000 mmy b

aumdluiev Cee)sHw Glrmas ... 1,50,000

3 prusen etevrLieu flLOl@n !

sLe0I5@ Quindlyn surmdwg .. 50,000

6 7Cwes sTevTLIsLAL 1 S(HHBS) LDV 6L

Qunmrt biynsssnE eurmidlug ... 25,000
12 wl=rgneyss #rsems ellmme) . 22,500
(Or)
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(b)  From the following information ascertain Gross profit and

Net profit :
Rs.
Opening Stock 50,000
Sales 9,060,000
Return Outward 20,000
Return Inwards .. 10,000
Purchases 3,50,000
Closing Stock 75,000
Wages 4,000
Salaries 45,000
Carriage Ouvivard 7,000
Discount anowed 18,000
Depreciation 40,000
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Spsanamibd eleurmisenans Glsreur(® i eOmULD

woHMID Hl&r eorub sewtssl B,

erb.
SUDL F78@ UL 50,000
epHuenest . 9,00,000
Qeusfls HmLivibd 20,000
2 6 SHLILLD .. 10,000
Qlamem(Lpg60 .. 3,50,000
Bnds srsE Qmu; 75,000
F0601 4,000
FLOLIEMLD 45,000
Qeuatings @ g6l 7,000
FeTEpLILg CaT(DS558 18,000
Gauiomestid 40,000
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12.

(@)

From the following particulars prepare Bank Reconciliation

Statement as on 30.06.2010 :

Bank balance as per cash book on 30.06.10 Rs.10,000.
Cheque issued but not presented into bank beio=e 30.06.10
Rs.1,000. Cheque deposited but not crediicd by the bank

Rs.3,000. Interest credited in the pass ook Rs.100.

30.06.2010 -60 (piqujLd o607 iy ment eumis flasL_(HID
uligweney Weseu@hd »Surmsenens 6l&mewr ()

FSWfl&s.

30.06.2016 6u =.1&s 7L 1q68TLIIg. eumid] @ mLiy
ep. 10,000, 20.06.2010-8@ (peor eupmsLinl_(Hid
aumdludeo CirmsswnssluLTg siGerene em. 1,000
aumdl e CesdHud eaurey emeausasluULIS
sreFremer ep. 3,000 OFeoGeul_iqe0 eurey

MaUSSLILILL eul_lg er. 100.

(Or)
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(b) State the type of error involved in the following transactions
and mention whether it will affect the agreement of the Trial

Balance ornot :

(1) Apurchase of Typewriter for Rs.3,500 has becn entered in

the purchase book.

(i) The total ofthe sales book is shorthy Rs.100.

(i) Goods sold to Pasupathi foi Rs:.2,500 has been debited to

Ragupathi’s account.

(iv) A credit sale to Kuriar for Rs. 530 was entered as Rs. 350.

SPHSHWIL. KL nligsenasefled o smen enwpserfles
aUmasHeL . gl emeu QmLyE Cargeneenw

undl&@wn ererLenswb GOILNH\s.

‘e ep. 3,500-8@ aurmdlu gLl g&u GQum

Qamem(psev 671960 LISlwLiLi (emeng.
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13.

(@)

(=) elmLeme 67L_Lg 68T Fol_L_6Sl6v . 100 @Henmeuns

BmHssl.

(®) usudleE ep. 2,500 &@& Apm Frédlenen
7T @& u g ull e & oo & & e

LMMIEnEUSSLILIL_(H6T6TS).

(FF)  (@WLNHSE hH. 530-5@ & 5@ DD FI&E

Clznemns em. 350 etesTm; 61 lpSLILIL (D66

A sold goods to B far Rs.10,000 on 1%t January 2010.
A draw a bill uporihiin for 3 months for the amount.
“B” accepted une bill and returned to “A”. On due

date the i1l was paid. Pass journal entries in the

books<f A and B.
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14.

(b)

(@)

mesteuffl 1, 2010 - 60 A etesteu B-&@ em. 10,000
wdllyerer  sréems  eNpuener  Clewgny.
3150 FTemaEHE A auenrhg 3 Mg wIHMIF SLenL B
any QFg A -8&@ eIl eneuggny. 2 flw mrefleo
@ wrHNE FignE@ uewTd Cle)ISSL L Ogers
Qaresr® Qmeurs ag@asefle)d ©56em 6w men

SOLCUL (B udleys6m 5Hs.
(Or)

What are the features of 3iliof Exchange ?

WIHNIEFL 160 St WeOL ST winene ?

M/s. Krishra aid Company of Chennai, consigned 100 tape
recorders«<¢ Muruga and Company, Madurai. The cost of
each ape recorder was Rs.1,000. The consignors paid
insarance Rs. 1,000, Freight Rs. 800. Accounts sales was
rzceived from Muruga and Company, showing gross sale
proceeds of 80 units at Rs.1,200 each. The expenses paid

and deducted by them were :
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Rs.

Carriage 40.00
Established expenses 200.00
Commission at 5% 48,06.20

5,240.00

Prepare Ledger accounts in the books of Consignor.

ClFenensvtuilev 2_eimem &) 2pewsT HlMI6U6ILD WogIemTulled
o dter e HnisiemsSpe 100 @l Hrim
smallemw elpilencsd@ Sellwug. @@ 6
wrLnedles al<nev eh.1,000 el Clewigeur
a1l emG eh. 1,000 eunL_enas@, eh. 800 Claevey
Qe&utaTr, 80 @6S BILT&&60 oh. 1,200 efgwd
yuenest CFWSHTH NDHLIEHES &HewsTdH@) eLPeVLD
Asflbss. AsHaTs sP&SLULLIL GCFe e a6

esteu(mHLoTm).
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.

aUML_6m& 40.00
evgTiggen ClFeva 200.00
sifley 5% 4,800.00

5,540.00

AUSH OCeuny sarsdle GCaemeuwme

CuCrien swnflss.

((/I)

(b) What are the niietnods of Joint Venture Accounts ?

B enevtTel DT &ETTTSHEH 6T 6UEMSBSHET WTenEu ?

15. (a) Whaturethe features of Investment Account ?

(10565 (b sewtadles ApLitlweoLser wreneu ?

(Or)
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(b)

Raja sells goods to his approved customers on ‘Sale or
Return’ basis at a profit of20% on sales , treating as actual
sales on 15™ December, goods costing Rs.1,000 were sent
to Latha Traders. No Confirmation has been reeeived from

Latha traders until 31st December.

Give the necessary Journal entries in e books of Raja.

Tren eteviLieu eNlpLemer Slemeouded 20% eomud
eusg pLenens HimuL (Wempuled ellnLienest
Qewdpry. ewut 15 yeml eh. 1,000 wdHiiysien
FTHGHH6T 60 FHi 19.G e 6T63TLI 61 (1H & (5
St eyl 4&nul 31 cuenr § & FbUKSLONS
wsr GCIEALAGES abs 96 L pHGonfun
aupg: Sarelleveney. rrxmellen (Wpgeo GBILIGCLIL 160

@& FOLBS LIS GHNILIL SN H(HS.
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Part C (3x10=30)
Answer any three questions.

16. From the following particulars prepare a Bank Reconciliation

Statement as on 31-03-2009.
Overdraft balance as per Pass Book on 31-03-93-as Rs.13,095.

(1) Cheque deposited in bank not-rechHrded in cash book

Rs. 105.

(i) Cheque received and recaorced in cash book not sent for

collectionRs. 1,015.

(i) Cheques issued fo: Rs:15,075, but cheques for Rs. 9,075

alone were debited 11 the pass book.

(iv) Cheques yeia into bank for Rs. 9,400 but cheques for

Rs. 3,550 alone not credited in the pass book.

(v) Inserance Rs. 250 paid by bank but not credited in cash

vook.
(vi) Bank charges Rs. 30 was recorded twice in the cash book.

(vi)) Interest of Rs. 1,400 debited in the pass book but not

recorded in cash book.
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Yeeu@pd SHeucvsemens Glanewi(h eumdl #flal (B
U iquieney 2009-mb gyewor(h wrys 31-1b BIEHSEG Sy

Q&swis.

euridl GeveusnrliLpm ClFee) LSsssSleoLi 2009 wrjs

31-60 @(mLiY em. 13,095.

() eumdlllev QesHw srCsrema Hlrnss 6Lliq60

6T LILIL6S6vemev emh. 105.

(i) Qupn srCGsremed Glyres 671960 61(pdl wiLdlew

eumIdla@ eIliLliLi_sMevensv eh. 1,015.

(i) em.15,075-8@ eupmdiw srGerenevssfley em. 9,075
LW ClFeey 115555560 LDM| MHEUSHSBLILILL F).
(V) em. 9,400-85 cumdlull1b ClFe) S srGarensvgerleo

. 3,550 1o (HId eure| emeussLiLLeS60emev.

V) a&rwi® ep. 250 euridl Clee)sSHwig ypevmed Clynes

<1960 6UT6Y 6M6uSSLILIL6N606m60.

(Vi) Qrr&s eliqeo eumidlée &L ewrd emh. 30 Q@ (Wewm

eTpSLILIL_(H6emeng).
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17.

(vi) eui_lg  ¢5.1,400 Qe Us5ss5He0 uDM
massLULLDeTeng. opened Glrnss 6L iq60

T(WPSLILIL_6Nle0emev.

Ramesh for the mutual accommodation ofhimselfana Murali, draws
upon the latter a bill for 3 months for Rs. 800 o1 1-1-2009. The bill
is discounted by Ramesh at 5% and halfthe proceeds are remitted

to Murali.

Murali at the same time, Graves a bill at 3 months on Ramesh
for Rs. 400. After securing Ramesh’s acceptance, the bill is
discounted at 6% byMurali, who remits half the proceeds to
Ramesh. Murz!i bzcomes bankrupt on 3 15t March and 25%
in a rupee s received on 15™ May as first and final dividend

from his estate.

Fiepare Ledger account in the books of both the parties.
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TCwes erevTLICuflesT LiwsT eusSlSaEns, (W6l eTesTLouT
¢h. 800-&8 3 115 2 ewwTiquiened 2009, evaulfl 1-60
anory. 4Cs Brefley. Gweas 2 svwriqwiensd 5% 6Szb
aul L b Qlawigny. gidlev Lindl Ggnenaenia (orefls@,

SlemiL1Slevtri.

wrefl, rCGoeas g em. 4008@ 5 Mg 2 663TiqUIEHED
T mg auf gpnl S>uydpry. 96
werflev, (werfl 6 % eSFb 2_emiquwiened auLl_L b OlFuig)
Qaremsullenest GUOEDTT. LTS CGTemsemw
TCwes@ eiivdlpry. 3lwrrs emmy prerfl
Sleureo g flmr. ste1Geu (preflullen Clansded BB
Q@ epumiicd, 25 srasen 6w L HGL Gw 15
Sem (Lrup pibss. Cameaiwnser CuGrl (@

st senen QheuT e(hisefledid F(hHs.
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18.

A and B entered into a Joint Venture in timber. B is to be allowed a
commission on sales at 10% and profits are to be shared in the ratio
A2/3 and B1/3. Aprovides timber from stock for Rs.10,000 and
incurs expenses amounting to Rs.1,000. B pays R:.1,000 for
unloading and other non—recurring expenses. Adrew upon B for
Rs. 6,000. The draft was accepted and A got i discounted for
Rs. 5.760. B sold 90 percent ofthe timber ror Rs. 15,000 and took
over the remaining timber at <ost plus 20 percent. B
settles his account by bani: draft. Give the Journal
entries and the relevant.accounts in the books of both

the parties.

b Hug CFne Turs A-wn B-uyb ¢h Qenemteilenewt
apu®SH & ConewiLeny. B-sanen ellpuenes sdley
10 % Georu mBLLmsenen A 2/3 , Bl/3 efsw
W fAlsziablamemeug oot 2 Leun. A, ep. 10,000
&lLL6TeT I HFMeTe blgevea] emh.1,000 b GlFWIET.
¢h.1,000 unrgens @nésGausn@GWL SHwmwu Hlaewpn

Clzeveys@ Car(hsgietemy. B, em.6,000-5@, 2_6vuriquied
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19.

s apmsGasraTeniULL gl. b 2 ewiiquiened A
SETEHLIGEHE i 6flag) em. 5,760 Clupmis Gleresrmi. 90%
wrrisensT ¢h. 15,000-8@ B eflpuenest Clawigny. 158
LIGGMET L 55 lemensds@ Cweo 20% wusg ‘B’
eS|S0 ETerTL . 1S ClFrensenwt eurais 2 6tvriquied
epeod ‘B’ Qe sdlesmy. @MuGu®m womind Coeneuwmen

&6U815(&HSHEN6T Q) (HEUTE| TLIg VLD SiLiT GlFulis.

The following Balances were ext.:zcied from the books of Rahul
on 315 March 2009. Prepare the Final Accounts for the year ended
31st March 2009.
Rs. Rs.
Capital 8,000 Bank O/D 1,570
Drawings 660 Travelling expenses 300
Purchases 11,870 Cash 210
Sales 14,690 Stock 2,450
Debtors 7,580 Discount allowed 40
ReturnInward 450 Bad debts recovered 250
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Rs. Rs.
Return Outward 350 Bills payable 1,350
Bank deposits 2,750
Rent 360
Salaries 850
Creditors 1,250

Adjustments :

(i) The closing stock (oti- 315t March 2009 was
Rs. 4,200.

(i1) Write off Rs. 20 as bad debts and create a reserve

for bad debts at 5% on sundry Debtors.

(iii) Three months rent is outstanding.
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TG Hewrs@ b sefledmha wrfe 31,2009 oem)
@muysst e@SasLLLL . QeupmleS(Bhgen wrjs 31,
2009 1b gy ewTiqmETer QMiS) Hevs1sEHSeM6T SWN ClFIIs.

o . em .

(PS6V 8,000 LDLIGLD 850
sy 600 sL vt Gay 1,250
Clams(pgen 11,870 aumigl Coevcsenriumpny 1,570
ehLiene 14,690 LwewTE QFe06y 300
SL_eumerflg6r 7,580 AL 210
2 6 Sl(mULID 450 Tradlmuy 2,450
Cleueflg lpLiun 350 S6TEMHLILY aULPRISLIG) 40
aundl epeuliy 2756 & aL6 QummE 250
CUML 608 360 AEENEETEING UL

IHDES. 1350
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#flas_(HS6v :

(&) wrpg 31, 2009 yem Pmid FraslmLy em. 4,200
25 BOHSS!-

(&) eurnssLes eh. 80 B&H@Hs wOHMID sL-ctwaflgen g

5 gg6S5D aurnssL6u SLIL JOLU(NSHIS.

(8) 3wy aunLens QarTuLGealosmiquig.

20. What are the objectives of Farmi Accounting ? Explain the special

features of farm accounting.

LIGGUTEm 60T SH6uuTSHS 60T CHISHMBISET 6165168 7 B|F60T
Foliy jbemisensi-oleul.

a skkok

22 AF-2298




AF-2299 BCS 1C2

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

First Semester
Corporate Secretaryship
PRINCIPLES OF MANAGEMENT

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions

1. What do you mean by Aaministration?

BiieunasLd eT6dTLIS6sT NemaneiT L B infeugy eretrewr?

2. Is management an art?

GLDELTETLI60.D §(H SHEMEOLLIT?

3. What is meant by Planning?
SLLISIL6D 6T6ITLIGHEIT GIIMIHEIT 6T60T60T?

1



. What is meant by ‘Strategy’?

‘BIHAILD’ 6T6ITLIGEHT EIIMIBEIT 6T63T60T?

. What is span of management?

BLD6VITETITEMLD GUTLDL| 6T6TTMITED 6T6ITE0T?

. Why is line organisation called military organisation?

aurflens SienLDLIL| 6765 SIMEIIA «2i6VLDLIL| 6T63TM)] SaMLILIGSDSI?

. Define Directing.

BWHSSO EUEDIWIDI.

. WhatisC<-ordination?

QBN DETTLIL| 6TETTITED 6T6T60T?

2 AF-2299




9. What is a Budget?

SLL AHM&6EnS 666 6T60T60T?

10. Define ‘Social Responsibility’.

gepsll OUMMILILI6N B60&H&60TD S(H5.

Part-B (5 x5=25)

Answer all ques.ions

11 a. Distinguish managemepitirom administration.

Gevmettembeni [BiieunsseNmba CaumLBS Sis.

(Or)

b. How canmanagement by recognised as a profession?

GLD6VTE 01 LD 6T6URITM] (F S\BMLPeoNs HhiEsMSSILGELD?

3 AF-2299




12 a. Explain briefly the various kinds of policies.

Q& M6TEn&UN6TT LISDBAUN) CUEDSHSHEMENE Si(hHSHLDNG 6flonsHS.

(Or)

b. State the obstacles in Planning.

SLLLOL 66T HemLSHem6NTS Sarm).

13 a. Discuss briefly the precezs of organisation.

OEMLDLILIN6ETT E\FWIEOAPENIL!VDEBTE Fr(H&BLDNS efleurl.

(Or)

b. What ara.the benefits of Decentralisation?

LIT6Ysom-S&S60163T LILIGSTSHEIT WITemeu?
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14 a. State the importance of Communication.

556160 QST PHBUSHOUHMS Sam).

(Or)

b. What are the characteristics of Coordination?

RUIHMHISEDETESH60165T GUIEOL|SH6IT Wiy

15 a. Write a note on : Managenient audit.

BLD6VITETITEMLDS, &60fl&(es:. UMD GSMILIL| 6T(LDE.

(Or)

b. Explain the need for Business Ethics.

6160518 SMDSH60T BHemeuuTensor eflenss.

5 AF-2299




16.

17.

18.

Part - C (3 x 10 =30)
Answer any three questions

All questions carry equal marks.

What are the different levels of Management? State its

functions.

Gweonetremibuiiest LeOGauM [BeweuaEmer . WMEDEU? i 60T

LI6oofls6menss Fam)l.

Planning is the essence ¢f Management - Elucidate.

SULIAL6D BLD6VIMETTeNDUND WP&HSWIDTENS - OS5 laLBSSI5.

Explain the principles of organisation.

DD E\HTETENHHEWET 676TEHS.

6 AF-2299




19.

20.

Discuss Maslow’s Theory of Motivation.

omeru@eorefilett O\FWIENTEHS Gsmumipgemest sfleurfl.

Define control and describe the process ¢t ¢ontrol.

SLGLILIMLIQET G605&600TD &([Hd LDMMILE. F>L:BLILIM(BE 61FUI60

wpemmuiensor sfleurfl.

skkok
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AF-2300 BCS 2C1

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Second Semester
Corporate Secretaryship
MANAGERIAL ECONOMICS
(CBCS—2008 onwaraz)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions

All questions carry equal marks

1. What is the diffetewnc> between Economics and

Managerial Econonics?

aunmefluey & Bl Geometrenioll ALMGheflweysE&W 2 sier

Caumun®@ wig?

2. What uo you mean by Wants?

6NBLILIRISHET ET6ITMTED 6T63T601?



. State the law of demand.

Gxeme 6lBemUIs &([HS.

. What is meant by Market Survey?

SIS DHUI6Y ETETTMITED 6T6TTE0T?

. What do you mean by imperfect Competition?

Bewm @emmLI GUITL LR eT63TLIG 60T O\imas it bl 15 SHleug) eretresr?

. Define Incentives.

a5 G6ALILSS6T LGN suDIWM).

. What is pricc discrimination?

efleweoLs Clie,.D 6T6BTMHITEL 6T60TEDI?

. What do you mean by pricing strategies?

efleneouNB&6d Widad 6T6TLIG6T IMIBET LD 15 Dinfleus) eredTewr?

2 AF-2300




9. State the meaning of business policy.

6UMETUiiLIS Q\SMeTen&HUT6TT EILIMIHET S(HS.

10. Define Deflation.

LISTOTEUMLLLD 6u6mIUIM).

Part-B (5 x5=25)

Answer all quections

All questions carry-egual marks.

11 a. Explain the classifications of Wants.

Goemeuserlett euem L UMBaHmaT 6l6M&HEs.

(Or)

b. De=cribe the characteristics of Utility.

LIWIGSTLIML Q63T G6voThigemen effieurfl.

3 AF-2300




12 a.

13 a.

Explain the nature of demand curve. Why it slopes

downwards?

GaemeusBamLge Queollener elleTeaEs. a6 g

SPCHET&ESE O\F608mE)?

(Or)

State and explain the law of ciminishing marginal

utility.

GmDHG 61560 @mPBenarll uweTurL@ elfewws sam

NesGs.

Describe tiue characteristics of monopolistic

competition.

awphmrfsowls Gumpuilest GuieoLjsener efleur.

(Or)

4 AF-2300




b. Explain the features of perfect competition.

Bewmeys Guntiiguilett fmLiulevLisener eflond:@&s.

14 a. When price discrimination is possible and profitable?

sfleweolIBLSLD eTIGLIMIPE) FMSSWID LDHMILD & euTLISTLDTES|?

(Or)

b. What are the reasons for raegulating the price of a

product?

Rm eungmefler fnoveomW  HLELUUGSSI6US DS 60T

SMIEUOITRIGHEIT WITERSL T

15 a. Differentiate detween inflation and deflation.

LI6WOT6UNL LI iDHMILD LIewoTelsasme CoumiLGSSis.

(Or)

5 AF-2300




b. Explain the characteristics of business cycle.

auentlls e phAules GuieoLisenen eflens@s.

Part - C (510 = 30)
Answer any three questions

All questions carry equal marks.

16. Examine the nature and scop: of Managerial

Economics.

@Lp6vITETTTEMLDLI GILIMIHETILLIEOI “ZGSUI60L| LDHMILD CUEHTEIEUEDEMED

SHEDOIT SHIMLS.

17. Discussthe dzriand analysis for company’s products.

Bl ALTHERSSTen CoHenen Splieilenes efleund.

6 AF-2300




18.

19.

20.

Analyse the price-output determination under perfect

competition.

Beomeylt Gumiguiled eflewev-2_HLIGH STDTEMSENS DbTMLIS.

Discuss about the price strategy to he adopted for the

export products.

admILSL OLNBETHEHSHES CMAsTeTETILELD efleneoulBsed

wsSHemwil LN efleund.

Explain the various phases of trade cycle.

auenflag sLphaiieir LisoGaun) LipBeneosemen eflensa@s.

sk
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AF-2302 BCS 3C1

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Corporate Secretaryship

COMPANY LAW AND SECRETARIAL
PRACTICE -1

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer ail guestions

1. What is Chartered Comnany?

&n&evr [BMILDLD 6T63T(L. IT6L " 6T60T60T?

2. Define ‘Piscpectus’.

‘BHOUNDIENS CUEDTWIEDD EIFUIS.

3. Who is Promoter?

GamHmIEALILITOTT TE3TLIENT WITT?

1



. Define ‘Personal Secretary’.

S6ufl O\FWeOT auemIWIM).

. Who is Routine Secretary?

GULD&SLDITE0T GIEFUIEOIT STESTLIEUT WITIT?

. Write short note on Registrar ¢f Companies.

Bojrserflett Ldeurment UMY &)l GSMILIL| 6T(LDSIS.

. Write a note on Takle B.

Dl Leusweor L amn) SMLIL 61DSIS.

. Who appoints first secretary of a company?

BOILGH6IT (PG> 1FWevem BulsIiLIeuT wimi?

AF-2302




9. When does a Company legally come into existance?

@dh BMIDD FULLILIQUINS 6TLIOILIMIDE SeuerfiLiLIBLD?

10. What are the two main purpose of Memcrandum of

Association?

SieWIDLIL| (PeDDBWILIQET BI6WIB (LP&HSB| 2pTSHSLD 6165T60T?

Part -B (5 x5=25)

Answer allquestions

11 a. What are the funethons of Promoter?

GsmomiefliiLmenferr Liswoflgem wimemeu?

(Or)
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b. What do you know about statement in lieu of

Prospectus?

SHaI0N&EMSESHS DIHN SiNsams Lubhnl el Sinfeies

wimemed?

12 a. Write a detailed note on “Advisory ‘“ommittee”.

‘O Beonsements G’ LM eflfleuraT ML euenrs.

(O

b. What are thefunctions of Company Law Board?

Boins s, enmilwgdest LiewflssT wimeneu?
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13 a. What are the different types of Secretaries?

aFweorfletT LIOGEUM) CUEDSHS6IT WIMeWEU?

(Or)

b. ‘A company secretary is a mere servant’. Is this view

correct?

1BMILDE GYEFWIEOIT ETEOTLIEUIT () CrIEmeVSSHMTI6sT - @& &riluum?

14 a. Who may be apwointad as a secretary?

Q\FWevem WImT L fILmT?

(Or)
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b.

15 a.

“The Secretary is a link between the directors and the

shareholders of a company” - Discuss.

“QFweolt eredTLIONT BWISHGSBHTHEBSGSID LMIGSTINSHEHSGLD

BemevuriLng e\FweoLGHDmT efleurs.

What are the duties of a secretary of the promotion

stage?

Boinsms Cxmbmiellsd Cuing a1FwWeofen &LenLs 6T

wimemed?

Or)

Distingl.isi between memorandum of Association and

Articles of Association.

SiewwLll WemnCWLRHSLD QFwWedwpenm 6188 Em&E&L0D

2 _ererm GeumLIMB&S6IT WiImemeu?
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16.

17.

18.

Part - C (3 x 10 =30)
Answer any three questions

What are the consequences of Misstatements in

Prospectus?

Saa10M&meUNed Seunner SeHeaed GLLb 6 LD [HHSTed

Sigevmed eIMLIBLD eflemerTeys:eir ereireor?

What are the duties of Comparny Secretary?

BMIDE E\FUIEOITIEST &L EMLDSEN LITEn6eN?

What are thewarious agencies through which the
administrat.sn of the Companies Act 1956 is carried

out?

BmIDs FLLLD 1956601 [Bieunsid 6b6SHS (LPSEMLDUNET eLpsoLD

[HEDLOLIMIBM S
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19.

20.

What are the functions of the Secretary as an

administrator?

Biieund eredtm SleriLienLufev a\swleorflett Liswoflae wimeneu?

Explain the Pre and Post in corporatior duties with

regard to Public Companies.

aung Bminsde LPADGS W6t LN 6T 6\&uweoreir

SLEDLDSHEMET 6561THEH5.
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AF-2304 BCS3C3

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, NOVEMBER 2010

Third Semester
(Corporate Secretaryship)

BUSINESS STATISTICS AND MATHEMATICS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 = 20)

Answer all ques‘ions.

1. Explain primary data.

wseo Hlemeols Lemsineleurd umnl elens@s.

2. What do yoon.ean by classification ?

auemaLILIBiSEIS0 LpD § Sinleug wrg ?

3. Calculate the median of the following data :

12, 30, 22, 36, 17, 40.



etreu(hid eleurms_ @ QenLHlenev wSllienu sesrisdl(His.

12, 30, 22, 36, 17, 40.

Explain Geometric Mean.

Qumsaeo errafl upM ellend@s.

What do you mean by Quartile dev ation ?

sreoLones 64608 LN B ireug wng ?

Calculate coefficient c£range for the following data :

100, 150, 50, 200,250.

YesteumLd eNlely a6l (Bhal 635860181 semadl(Hs.

100, 150, 50, 200, 250.

Expiaia Seasonal variations.

LI(HeUSTeV DTM)|GHe0&sT Linl 65 6ms@s.
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10.

11.

Define - Index numbers.

SO eT6evT—6uemTIWID)].

Explain Exhaustive events.

ppewwwnen Klaspeslast unl elens@e:.

State Addition Theorem on Probab:iity.

Blapgaeien gnl_L 60 Camms enis 6T1(LpSIS.

Part' B

Answer aiiguestions.

(5 x5=25)

(a) Discuss therequirements of a good questionnaire.

Q@M Bhow elenssnensaner ©gemeusenen

SHEVRA NS,

(Or)
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(b) Explain the merits of diagrammatic

representation.

elengaLiLIL LD euenrgedlest SmLiLsaener eXlens@s.

12. (a) Calculate Mode from the followingaata :—
X: 30-40 40-50 50-60 60-70 70-80 80-90

f: 18 37 45 217 15 8

Wemmeu B eleurmissa %8 (WL lgerm W LenL

ST6U0TS.
X 30-40 40-50 H€0 60-70 70-80 80-90

f 18 37 45 27 15 8

(Or)

(b) ... alculate Median from the following data :—
X: 20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60

f: 50 70 100 180 150 10 70 60
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Yetreu(HLd eleurmissEms @ Denflenev wdllienu

SM600TS.

20-25 26-30 30-35 35-40 40-45 45-50 50-55 55-60

%0 70 100 180 150 10 70 &0

(a) Calculate the Mean deviatien frcm the following

frequency distribution :—
0-10 10-20 20-39 30-40 40-50
5 8 15 16 6

LY6tT6u(IHLD 3iTnes <l6u6veT LiTeuen&@ Frnefl elevssid

ST6U0TS.
0-10 10-20 20-30 30-40 40-50

15 16 6

o
(0]

(Or)
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(b) Calculate standard deviation from the following

data :—
X 6 9 12 15 18
f 7 12 19 10 2

YetTeu(HLD 69 6UTRISEHSHE SIL_LarMSSHLD SHT6vu1s.
X 6 9 12 1S 18

£ 7 12 10710 2

14. (a) Explain the uses ¢€Index numbers.

SO OL_mmers.eflest Lwengemen elens@s.

(Or)

(b) Fzxzplain the method of Least squares.

SHODHS aUTSHS (Penmenw 66T EHS.
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15. (a)

(b)

Showthat AUBNC)=(AUB)N(AuUC) by

means of Venn diagram.

Cleuewst euemTLIL (Pemmulled
AuBNC)=(AUuB)N(AUC)x Binae.
(Or)

A bag contains 4 white and £ hlack balls. One ball
is drawn from the bag ard 15 not replaced when
the second ball is drawi. Find the probability that

both balls of the twe.arawings are white.

QR FnenLad) 4 GleusTemen 5 &@mHLULY LBG S6T
2 _eitement. . D IssT(h LbHGIS6T eeninevtiilest eestnnss
dOSBLUI_L TV, (PSH6V Liheng LBewsT(HILD FnemL_ulled
GurL s2evemev eTeaTmTEL, GTesuT(HID CleusTemet LGS

A hea BlaLSH6| SN6wus.

7 AF-2304




Part C (3x10=30)
Answer any three questions.

16. Construct an Ogive curve and Histogram for the

following data :—

Marks : 0-10 10-20 20-30 30-40 40-50 50-60

Frequency: 3 9 15 30 18 5
esmeupd eSeurmiSEnHsE ender. euensnGaT(H HMID
QFeueusILIL LD 0UMTS :

wdlliQuemasr 0-10  10-20  20-%  30-40  40-50  50-60

Sienebleues : 3 9 i 30 18 5

17. Compute the mean, median and mode of the following

series :—

X : 0-10°10-20 20-30 30-40 40-50 50-60 60-70 70 -80

f 10 14 28 58 65 417 32 10
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18.

Yeseu@b Qs (Hs@ srrefl, @enL_flewed wHMID

(PaL1q6 IlLienL Sesursd (Hs.

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70 - 80

10 14 28 58 65 47 R 10

Find the Karl-Pearson’s co-efficient ot correlation

between X and Y.

X : 5 7 3 1

(Nd

—
DN
Qo
W

Y : 8 9 5 4 9 13 7 9

anjev Mwyenesfles o_L st Qgr_jyslspenen X wpmib

Y &5 snesis.
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19. Compute the Straight line trend by the method of

Least square to the following data :

Year : 1975 1976 1977 1978 1979 1980

Profit : 7 10 12 14 17 24

GODOHEG aiss (Peomnulled LAemTeu(hHLDd 6il6 TS EHSE)

Cuna@sCan auenrs.
e (CIR 1975 1976 19771978 1979 1980

60MLILD  : 7 10 12 14 17 24

20. If n(A)=175, n(B)=175 n(C)=145,
n(ANB)=110, (A N C)=95,n (B C)=90,
n(AuwBuUC)=250, find

(@) “w{AnBNC).
@ n(ANC).
0 nBNC.

d n(A'nB'N Q)
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n(A)=175, n(B)=175, n(C) =145,

n(ANB)=110, n (A~ C)=95,n (B C)=90,

n(A UBuUC) =250, eresflev,

(@ n(AnBNC).

(b)) n(ANC".

(0 n(BNC).

(d n(A'NnB'N C)-6v wIILEen6N &T6woT8.

— Sk

11 AF-2304




AF-2305 BCS4C1

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester
Corporate Secretaryship

COMPANY LAW AND
SECRETARIAL PRACTIC:: - 11

(CBCS—2008 onwards)
Time : 3 Hours Maximum : 75 Marks

Part - (10 x 2 =20)

Answer aliquestions

All questions.caary equal marks

1. Give the definition of ‘Director’ as given in the

Companies Act.

BOID&FFLLLLY BUSGSBIT ETITLSDHSTEN S60&HSHEID & ([hH.

2. State the share qualification of a director.

BuwsGnier &S UnhiG uUDNlE sam).



. How is a Managing Director of a Company Appointed?

BmibsPed BLoevmetor GUISGSIHIT eTeueunm) Buibl&easl LGSBDMT?

. Who is a Manager?

GLD6OITEITIT 6T6OTLIGUIT WIMTT?

. When is a statutory meeting of'a Company held?

BOIDSS6tT SFLLLILITEI Sal'l L. 6iI6ILINIDE] HeDLOLNIBDSI?

. What do you understand by Minutes?

Sal'L BLONSE™% GO LDD) 5 SHIbgI \&HTewTLS) eTedteoT?

. State tae need for investigation.

Levesrmuefihanenr Gsemeuuilenents sam).
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8. What is meant by Oppression?

SILEHSG (PO ETEBTLISHEST GIIM(HEIT 6T60T60T?

9. Whois an official Liquidator?

SHSHMILILYIT6U SHEMEOLILITETIT 6T6DTLISUIT WIMT?

10. What is Voluntary Winding n1?

6Ml(BLILIG SHEWEVLIL| ETETTDTED: 6T HTE17?

Tart-B (5 x5 =25)
Answer the questions

All ouestions carry equal marks

11 a. State the vosition of the directions.

Buisgsnseflesr Beweo LIHMIS sam).

(OR)
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b. How can the shareholders remove a director? Explain.

LBIGSNITS6T (h SUSHGSHENT eTeueun) [B&&60MD? eflens:d.

12 a. State the provisions of the companies act 1egarding

manager.

Bmig &L GeonsmT OSMLITLIMEN 6fldsHemens sam).

(OR)

b. What are the disqualitications of a Managing

Director?

GLD6LETT BWSGSHNTT SESIIETEDLDSHET LITEEU?

13 a. Distinguish-between Motion and Resolution.

Spien® Gamfléens HMID STonesid CaumiLIGSSIs.

(OR)
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b.

14 a.

15 a.

Draft a suitable notice for the Annual General
Meeting of a Public Company.
Qh EOILING| BMILDES60 SHetT(BLI E\LINGIHFaL LSBDSTEN HSHS

SNl NenenT suemIs:.

State the Powers of the Central Government of
prevent oppression and Mismanageinent.
SILEGSPOD  OMID  Seuriioi  GLDETEIITELDEHU

SOLLSDSTEN DSBS DTS S iHHMITRISED6NTS Fam).

(Ok)

Listout the typ¢s of Investigation.

L{eo6TMIENEDT Ol6u,h&6merTLI LIl 1o i60lB 8.

What-are the objects of Reconstruction or
Amsaigamation?
DM TEMWLIL H6060F R(BHISenemTLILN6e GLhTé s Mmig 6

wimemed?

(OR)
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b. Write a note on Creditor’s Voluntary winding up.

&L60T euprRIBBWImT Sett efl(phLILS SemeoLil UM SMILIL

T(RGI5.

Part - C (2 x 10 =30)
Answer any three questions

All questions carry equal niarks

16. In what different ways may a.airector of a company be

appointed? Explain.

BOILsS60 QUSESHET 656 Sbs auflsefeo Buidléseomb?

NesGs.

17. Distinguish(kctween Managing Director and whole-

time Direstor,

GLosormeTr @WISGSIBIT LDHMID WWLEHT SWHSHT CamILBSSIs.
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18.

19.

20.

Discuss the duties of the Secretary relating to Extra-

ordinary General meeting.

AL QUGS el LD O\SLITLITENT 6\&Fuleofl6d &LenLbsener

eNersS.

Who can be appointed as the Investigator? What are

his powers?

L{S06BTMULISUTNITS WITenT BUlllé&HecTd? QTS HSSMITRISET

wimemed?

Enumerate the varic:s grounds for compulsory winding

up.

SLLMLS SHeneoLihsnest LieoGeum| snyemnrmisenst efleurfl.

sk
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AF-2306 BCS4C2

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester
Corporate Secretaryship

GENERAL LAW

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions
Each questions carry equal marks

1. What is meant by stetu.e?

Q\FWIFLLLD 6T60TLIS6D. 6)MIH6IT 616316012

2. Define Juaicial Decision.
PESSI0.N (Pl UEDILIDI.
3. What do you mean by preamble of the constitution?

8pPHw SrdweosnblLEF FULSH6T CHMDMIEUTUI 6T65TLIS 60T

ewngeT ubn) B dinfleus) erettesr?



. What is meant by Sovereignty?

WP560 L85 56me0enLDW|TlEMLD 6T6ITLISET CILITIHET 66316012

. Define the golden rule of interpretation.

QN eflengssdett 1Lmett Guestn 6fld) euen.Tu/m).

. What do you mean by internal aius to interpretation?

QWINEBET 6MleTEHHSSMHSHITE 2_6TETR6::T 256 (LPEDMSEIT 6T6TTMITE0

6T60T60T?

. Give the definition of Sale.

efHLIENETUTEST LIGERTMEHSLD S(HS.

. What do vou mean by Gift?

6\&ITEW.., 6160TLISET GIIMHEIT 6T60T60T7?
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9. What is meant by Charges?

QUIMBLLN6m6T0T QYLIMMILIL|SHET 6T60TLISHEST EIIMIHET 6T60T60T?

10. Define Warranties.

2 miBwefiii’ uSSHID euenIUIM).

Part - B (5x5=25)
Answer all ques.ions

All questions carry ¢oual marks.
11 a. Explain the various sources of Indian Law.

BB FLLSDET LOLAN SHSMIMHISEN6T 606aT8ES.

(OR)

b. Descritie the common law.

Qg FLLSMS efleurl.
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12 a.

13 a.

Explain the various fundamental rights of Indian

Citizen.

8IS Glewsseflen LoOGaM Sl 2_flenwsemer

MNesG .

(OR)

Narrate the scope of directive rrinciples of State

Policy.

omBeo SIMeUSSH \&MeTsmrS¢ et Grnasmsemen sfleurl.

Distinguish between iitcral and logical interpretation.

e fHwimest LO,2MILD FiTd FHWMes OWIMB6IT efleTs: ShigHemnerT

GamILGSGI7s.

(OR)
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b.

14 a.

b.

Explain the mischief rule of interpretation with

Heydon’s case.

anpsit eflensssH6T GHNEE 6l6demev MBI QML 65T6D

QULDSSB6DTLIY 668 ESS.

State the different kinds of mortgage and how is

mortgage by conditional sale efte~ted?

LueGam EUMSBWTET HEDLIDIThIS6T6T almssemnern
SOUNGs WwOMID efiDus o SHeDLIDTEITD  6TeueUTM)

QFLWILGESEDG?

(OR)

What is thew fference between tenancy at sufference

and tencucy at will?

06C YrbS ©H5S WLWHNID  AGUL  PreS

&5F0858emL et GaumILITBSHET WITened?
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15 a. Briefly explain the various conditions of registration.
ude asuwIs5edle LOGaM BLHSMENSEMET & ([H&SHLDNS

NesGs.

(OR)

b. Differentiate between Mortgage and Cnarge.
SHeDLIDMETD WHMID QUMBLLIN6RTL ILIMMILILISESEnerT

GamLBGS5I5.

Part«.C (3 x 10 =30)
Answer any turee questions

All questiens carry equal marks
16. Discuss the imporiance of Custom as a source of law.

FLLES6I epevid 6160TD 6uem&UT6d L6l (Pp&HSBWISGl6USens

efleund.

6 AF-2306




17.

18.

19.

What are cultural and educational rights? Explain

them citing leading cases.

LIeSoTLIN(® LDMHMILD &60efl 2_flemLDa6iT eT6iTMITeD 6T60T60T? SHEUMEWD

rSifl QUP&EGsHmeNs: O\HMeTT® 6MesE&s.

Enumerate and explain various external aids to

interpretation.

aunmer  elensssShaner - weBam — Oeeflemm

2_56|(LpennSEMATL LILIQUIIIL®B 66T ESs.

How is gift of an iinimovable property effected? When is

gift considered void under the transfer of property Act?

SIWEWIT 61875 GMISS E\&TemL eTeueun) eTHLIGSSLILGSMSI?
QETsH MWL LIDNE FLLSSET Sp OsmedL elGUg)

613600, IIQUITGLD?
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20. Examine the various types of charges.

aunpLilemenl aummilLssefletr LOGaIM 6D D6

ObIMUIS.

skkok
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AF-2307 BCS4C3

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester
Corporate Secretaryship

BANKING AND INSURANCK

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all fu=stions

1. Define - Banking.

AUk - eUEDIWENM E1FU

2. Who is a custonier?

EUMQEHEMBUITETIT GTEOTLIEUT WITT?

3. Whaiis negotiable instruments?

LDTDHMILPEDD SHEUCTITHISHET ETEITDITEd ETEITE0T?



. What is crossing of Cheque?

SNGFMeme0 SNBSH6L ETEMMITED 6T60T6E0I?

. What is meant by hire-purchase?

QUMLEME CIBITEIT(LPSHED 6T6ITLISEIT GIIM(H6IT 6T60T60: 7

. What is Insurance?

&MUSE eT6tTITed 6T60T60T?

. Define Risk.

SLTUN® - £6°58 60D &([Hs.

. What is Insurable Interest?

MG e\Fweusmanen 2 Menld eeiTmmed er6dTes?
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9. Write a note on “Nomination”

IBWILDEDTLD - GMILIL| 6UEDTS.

10. What is Marine Insurance?

SL6OEHS SHMLILIE 6T6tTDed 6r60T601?

Part- B (5 x5=25)

Answer all geestions

11 a. What are the secrecyta he maintained in Customer’s

Accounts?

QUMIRSEM& WO . HevoTHPHe0 LITDMGSILL  Geustorioul

BrsAWnkIsHeT 11 116meu?

(OR)

b. State the origin of Indian Banking.

Spdu amBuier CaMHNSMS Famis.

3 AF-2307




12 a. What are the types of Endorsements?

GLA6O(DSSE0l60T EUEMSEIT LITEmEU?

(OR)

b. What are the responsibilities of Colle<ting Banker?

6ug60 euriBuirfledT QIIMMILILISHET Wimers6n?

13 a. Explain the leasing Finance.

B8 &ssmaemw eflemineg .

(OR)

b. Describe banker’s right of appropriation.

auriis), 6081650 2 Memuilenesr efleundss.
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14 a. State the significance of Insurance.

SMISLIEN WPHBWSHIUSMS Famis.

(OR)

b. What are the principles of Risk Insuiar.ce?

BLT &ML C\GTETEnSSET WITew I

15 a. What are the types of Fire Insurance Policies?

OBGULILTS STUSLGE: 615 TETnSUT6T CUEDSSET WITEnEN?

(OR)

b. State the essentials of the Doctrine of Subrogation.

UReNe@ MEUSHE0 CHMULITLIQEN SHIQUILIEDLE &([HSSI5HS6meT

oM.
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16.

17.

18.

Part - C (3 x 10 = 30)

Answer any three questions

Explain the functions of Reserve Bank of India.

8w fames amduilesr Lemnflssmen eflenses.

Explain Banker’s Lien.

aurBwiflest 1N 2 rflemibullemer: 6. surtl.

Discuss the generai-relationship of banker and

customer.

QRISWHSSD. . FIMTRSHMSWTNT(HSGSWL  QewLBwiuwlmeor

EIIMGIEUTEDT 2_1)6,HE06IT SIS
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19.

20.

Explain the kinds of Motor Vehicle Insurance.

QUTSH6UTE SHMLIGL Q6T UEHSSHEMEIT 6N61TEGSS.

Explain the general principles of Life Insurance

contract.

Sbwem STUELG RUUBSSS6tT OLmsL<T CHMLLTBSED6T

NesGs.
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AF-2308 BCS5C1

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Corporate Secretaryship
COMMERCIAL LAW

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions

1. Define - Contract

QUUBSLD - euenIWIM).

2. What is an offer!

(PEDETIEY 61 TIMED ET60TE0T?

3. What is meant by Voidable contract?

56fliT&58 Falowl QULIHGLD 6T6TLISE GILITIHET 6T60T60T?



. What is contingent contract?

IBemeowiHn QRLILIBSLD 663D 6T60TE0T?

. What do you mean by Merger?

Seweworli] LbM) BefiT Hnfleug eretrenr?

. What is an Injunction?

SHEDLUWISSIT6Y 6T6ITDIT6L 6T60T60T™

. Define - Indemniy;’.

BB - L6vs H6wilD H([Hs.

. What is bailment?

RUILIEDLEY 6T6ITMDITEL 6T60T60T?
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9. Who is a Pawnor?

SILG WEULILIGNT 6T60TLI6UIT WITIT?

10. Define - Agent.

ST - euemIWIm).

Part-B (5 x5=25)

Answer all the juestions
11 a. What are the essential.eiecments of a valid contract?

61F05S RUILIBSSDE0 AL ILEDLE SamIS6T WITEHEl?

(OR)

b. What are the rules governing consideration?

LDNILLIEDENT SLBLLGSHID SpHmegienLl efldgeT wimeneu?
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12 a.

13 a.

Distinction between voidable contract and void

agreement.

S5efli&eH&FaRW  RUILBFHD E1FOOMH 2 _LETLIQESMS

GamLBGS5I5.

(OR)

What are the kinds of Quasi-Coentracts?

LUGSWETeNTest QUUIBSHISAN. T 6UEDSHSEIT WITEH6eN?

Explain abou* rischarge by supervening

Impossibility.

SewLuflev Guiermbed GLIMGEVMeD (pieLiL| LH) eflems@s.

(OR)

Write a note on “Discharge by Breach of Contract”.

RULIKS cpmleflented apieli] LHM GBI 61(LSIS.
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14 a. What are the types of damages?

SLPUISLIQ6TT UEDSBSEIT WITEH6U?

(OR)

b. What are the Liabilities of surety?

NemsvorwimermlesT QILIMMILILISSET WIT6n6s?

15 a. What are the Requisites or Bailment?

QUUEDL6A6T STMHIUIENILLY.S FaMIS6IT WITWeU?

(OR)

b. Write anote on pledge by non-owner.

2_flapwihpelt meusESD LG LM SMILIL 611psIs.

5 AF-2308




16.

17.

18.

Part - C (3 x 10 = 30)

Answer any three questions

Explain the different classifications of contract.

RULIBSSS6T LIsdBaIN) 6UmSHSHEM6IT 6lemsHEs.

What are the elements of fraud? Flow it differs from

Misrepresentation?

Gunsuiett samissT wnena? B SMess samis5edledlmbal

ereuauTm) CaumLGEDSI?

Explain aboit+the Discharge of contract.

QUGBS 62GLL U eflensEs.

6 AF-2308




19.

20.

What are the remedies for Breach of Contract?

RUUBS wpefharer Sieyser wmeneu?

What are the duties of bailor?

LILIEWLEY G\FIILIEUT6T SHL6MDSHET WITem6U?

skkok Nl

7 AF-2308




AF-2310 BCS5C3

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Corporate Secretaryship
ECONOMIC LAWS

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions

All questions carsy equal marks
1. What do you mean b7 hidustrial undertaking?

OsMAHETEnes G s eiiened L B Sileug) wing)?

2. Listout any four functions of Central advisory council.

wHBW “EyBeonsements Gwellenr Lenflgefled gCGsHamID

IBIT60TNou60T euflemELILIBSS)S.

3. What do you mean by concentration of economic power?

QMBS euedllemid Gefley LD B Sinfeug wing?

1



. What is Monopolistic trade Practice?

LDDHEDMTHEMLD 6UITESHE [HLEUQHENS EIEITMITED 6T60T60T?

. Current Account Transactions - Explain.

BLLIL| &60018:@ UfleuTsgenenser - eflensds.

. Write short note on ‘FDT’.

Stetresfil Goie pHES® LD 0SB RIS

. Who is consumer?

BISTGEUMIT 6T60TL N “WImiT?

. What iy ivreign exchange?

Slstrentis \Fevmeuesfl er6dTMIMed eT6dTEdI?

2 AF-2310




9. Write short note on ‘National Commission’?

‘Badw Spewevonuid’ LN A SMILIL| CUEDTS.

10. What do you mean by environmental pollation?

&HMIF &Lped GG LHM B Sileug wng?

Part-B (5 x5=25)

Answer the questions

All questions carr;z equal marks.

11 a. What are the benifivs available to Small-Scale

industries?

dm O\SMLPEL (LPsm6 T6YSHES SEMLEGSLD LILIETSH6IT WITeme?

(OR)
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b.

12 a.

What are the criteria for the grant of industrial

licence?

agmiperenso 2 Mo Sefllugsbhsner Bubsenerser

wimemed?

Write a note on: Division of Undertakiig.

OBMADETEME0 LGLIL| UDM) (H STLIL; 6T(LDSIS.

(OF)

List out the role ot the MRTP commission in regard

to control of mornopolistic trade practice.

GunLipuTieneor ‘elT&58 BLeleSHms SLEUTG &g MRTP

Spewerti i Hett LmiBensr auflens ILBGSSIS.

4 AF-2310




13 a. What are the duties of an ‘authorised person’ under

14 a.

FEMA, 1999?

FEMA, 1999t Lip Simudsfleasiur, pufler sLenbasr

wimemed?

(OR)

What is a capital account {ransaction? State the
provisions of FEMA with réspect to regulation of such
transactions.

PG  HEOMEHEG [ LTIEUTSHENED  6TGTMITED  6T6IT601?
ufentsgenes wine H FEMAsflsir &1L BewLpepmaHEmeT

asefl.

Listout the objective of consumer protection Act.

HI& I Geumi UMGISTLIL FLLS S 60T CBN&s5Hms

auflens LGS SIs.

(OR)

5 AF-2310




b.

15 a.

b.

What sort of complaint may be lodged under the CPA?

CPAefiett 1) 61b5 euemaiwinen Lsmisener 61&Mefgaeomd?

Highlight the salient features of environment

protection Act.

&OM &WPO UMHSMLUL FLLSHr sDLL SBUI6OL|SemerT

GevBmissis.

(GR)

What are functiens of environmental tribunal?

&M &LP6D SHEMETTILISDH6IT Lictofls6iT Wimemeu?

6 AF-2310




16.

17.

18.

Part - C (3 x 10 = 30)

Answer any three questions

All questions carry equal marks.

Discuss the provisions relating to the licengiiig of new

industrial undertaking under the IDRA1951.

IDRA, 19516t uig @@ yBw asmhb s woeossmest 2 Miblb

QsLITLImen efldpenmaemen efleund.

Explain about the naturc.and scope of completion

commission of India.

SBSw GuLy Senswr1GH60 H6iTEnD WMHMID 655615606060

upn eflenT&&s.

What are tine obligations of an exporter of goods and

services<ut of India? Explain.

8igwneie Fr165@ WOHMID Csemeusst edm Suimeresr

GouetorBBSHMETSHET Wimeneu? efeurfl.

7 AF-2310




19.

20.

How the grievances of the consumers are sought to be
protected under the consumer protection Act.
HISTGEUMT LMGHISMLIL FLLSS6N S HISTGEUMIT LDEOIEGEDMEEIT

ETEUEMD)| &EMEOWILILIGHDSI?

List out the regulatory framework procedures for
obtaining various environment clezrances.
ueoGeum| &LBemed SieysHeT OLMISISIIHTEN FLL [HEOLAPEDD

a\FWwevseme aufleneLILIBSSIs.

3k ok
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AF-2311

BCSE1A

B.Com. (CORPORATE SECRETARYSHIP)

DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Corporate Secretaryship
Elective—DIRECT TAXES

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks

Part - A

Answer all ¢ucscions

1. Define the term Person.

IBLIT 61631 61&TEDEMED 615051l M)l

2. Whois calleqAssessee?

AT GSHE LIS HEDPSSLILIGLISUT WITiT?

3. What do you know about Perquisites?

G6d MU LD 5 Sinfeug wing?

(10)(2:20)



. What is meant by Annual Value?

Op600T(B LDLIL| 6TETTMITED 6T6ITE0T?

. What is Cash Credit?

6\IM&:S SHL6IT 6I6TTMITED 6T60T60T?

. When is a gain called short texm gain?

eTLIGLING)| 1T SHSMUILD GSMISWIEN D) ShSMLILDMS SHSLILGSDEI?

. How the Clubbing vfioss is done?

IBLLLD eT6deumm), e JlemetrssLILIBSME?

. What iszheant by inter source adjustment?

BOMRIGEHSHS DEOLBWIWITET FflSSLLEOHET ET6IMTE0 6T60T60T?

2 AF-2311




9. Who is an assessing officer ?

AN B DieQIeu6OIT eTeBTLIOUIT WITT ?

10. How gross total income is determined ?

KU 6\DMSS EUHLDEDILD eTeueunm) SiiomesllesIGSng ?

Part-B (5 x5=25)

Answer theat«siions

11a. How the residential status of a Company is

determined?

@ BoisuensSei ¢ euiflenid Sibgevg) sleuaunm) SipresllssL
uGSEDSI?

(OR)
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b.

12 a.

Mr. Ragu an Indian Citizen, Leaves India for the first
time on September 20, 2008 for the purpose of
employment. He comes to India for a visit of 146 days
on April 10, 2009. He comes back on May 16, 2009.
Find out the residential status for the asses:ment year

2010-11.

Bb. IS P BHBWIS GIQDSEIT, (LPSHEIT (PtDPOWINS VEFLILLDLIT
20, 2008 Sistim GeuemeveumULIL|GS! & SbSwinene 6B
ceueflGw agetpmT. Geurt grlirse. 1S, 2009 Jievim SbSwim
QUBSMLHG 146 BILS6T S HulbhSMT. Geurm eworGLD GLb
16, 2009 ety BHRwn ebBFHOLBSMT. WLSIIG
SpewiLnest 2010-118@ Baurs Sluflend Sibgensams

sevor(BLIlg.

What are thz deductions allowed from Salaries?

FDLITSE N NI SHSHILGLD SHLPeYSHET Wimeneu?

(OR)
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b. From the following Particulars, Calculate gross

annual value :

Rs.
Municipal Value 60,000
Fair Rent 65,000
Standard Rent 59,500
Actual Rent 72,000
Loss due to Vacancy 6,000

Wereupd efluprisefed®nbgl, Awnss Sher® HLemL

&600TH BB S.

€.
&ML S DS 60,000
©_6TOTEWLDWITENT 6uiT.61& 65,000
B6mEOWITETT €4l 605 59,500
FNSMI6U0T_6.'M_6M&H 72,000

snedlune: bHs smevsHe HULD 6,000

5 AF-2311




13 a. Miss. Kavya Sells the debentures in the year
2009-10. The details are as under:

Sale Consideration Rs. 6,00,000.

Year of acequisition 1998-99 (CII : 351)

Cost of acequisition Rs. 3,00,000.

Calculate Capital Gains. (CII for 2609-10 : 632)

Q\F6vefl. Smeuwimn 2009-101D el HLEVLB LSSImhISEDeT
eflhLenes QFWISTT. DNG6i (6itiTmassT SCL O&TGEEHSL

uL@eireng).

eflHLIEm6TT LDMILILIEST eny. €,90,000
Q\SEMETLPSHED Spett (B 1998-99 (I.6fl.@ : 35)
E\BMET(LPSEL i.&H&D eh. 3,00,000

EPELBET L BTGNS HWTHEGS. (3i.6f.@ 2009-10 : 632)

(OR)
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b. Mr. Giri held the following investments :

a) Rs. 89,700, 10% (tax free) debentures of a listed
company. (Rate of TDS 10.3%)

b) Rs. 1,00,000, 12% Punjab Govt. Loan:

Compute his income from interest oa Hecurities for
the year ending 31-3-2010. If 1aterest accrues

annually on January 1st.

B Sfl NetteuBLd WWSEOBEHDAT CHIETITBHSIT:

3 eb. 89,700, 10% (6uriticveom) LILQUIESLLILILL Bmjeuesr

sLeB LSS (eufifigdFid 10.3%)
9p) . 1,00,000 12% Ieh&FL TG SHL6IT.

8aurg QY- 6uGHNesSms 31-3-2010L63T (pIeuenL LD
SpWIB&HE, &EWEHHBS. QIllp WpPiTe] Spevresdt ggevreur 1D

IBT6I.
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14 a. From the following information compute Gross Total

Income :

Rs.
Short Term (gain) 8,000
Short Term (loss) 24,000
Long Term (gain) 8,000
Income from betting 12,000
Loss from card games 5,000

Netrau(HLd eAILITHISENET E1SHMTETI® €5ii/h 6IDNSS CU(HLDNETISENS

SHeTHHBS :

erb.
GSNIBW ST6v (SpSMuILD) 8,000
SNIBW &Mev (BLLLD) 24,000
IB6U0TL. &IT6d (DM ULL) 8,000
LIbSWISHH60 61 FHLLi160TLD 12,000
FL0 eflememuniiiged BLLLD 6,000

(OR)

8 AF-2311




b. Mr. Anpu has his gross taxable income (before

15 a.

allowing this deduction) of Rs. 25,000 and pays rent
of Rs. 600 p.m. at Varanasi. Calculate the amount of

deduction U/s 80GG.

B. ey ep. 25,00056m8 RLG QWM& euflHGSL UL
aupneTons (Bbs sfle] @B sL LG  wW6iTL)
QUHBIHHBSTT HMID el eh. BO0ET L! 6uTLeDSUINTS LDTSLD
ReTMISHG aumgendlufled OFaS5S UHSMT. BaUHSS SHe)
brey 80GGWenr & WS HHULGBLD E1HTENSEDIW

&600TH BB S.

How tax liability of individual is determined?

sevfipLler eurfl se2D esueumm) SionesllasILESDSI?

(OR)

Expleizshow the losses of firm is treated.
FaL i S00T6MLD [HLLLD 6T6U6UMM)| eWSWMeTLILBEME er6irLIens

efeurfl.
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16.

17.

18.

Part - C (3 x 10 = 30)

Answer any three questions

Give ten examples of incomes which are totally exempt

from income tax.

augsmerr euflufeSapbg ppenwns: elavsseflsaslurL

aU(BLDMENHIS6 0 TCHEID LISSMET L6 MISHSHILET \&HM(.

What are the powers of coniinissioner of income tax?

Explain.

6U(BLDTET 6l SHeWEWTIiioiT IHBHMMHIG6T Witemeu? efleurfl.
Mr. Jagan is a prouuction manager at Chennai. The
particulars of his.salary income are as under :

Rs.

Basic Salary 15,000 pm

Dearnecs Allowance (Retirement Benefit) 5,000 pm

Enteicainment allowance 1,000 pm
Medical Allowance 500 pm
House Rent Allowance 4,000 pm

10 AF-2311




Rs

Rent Paid for the house 5,000 pm

He and his employer (each) contribute 15% of salary to
R.P.F.

Mr. Jagan had taken interest free loan of Rs: 15,000 to

purchase computer.

. 1ZR&60T 6\F6tTemeuTUl6 61T 2_HLGH Cr DV iaTT. SeuTg) FLbuerT
@ DUSS <31

eflupuge LetTaupLomm):
erb.

SliglILIeL FLDLIETID (DMSLD ‘D6rT5HE) 15,000

SigeflemevLiLig E@UISTD Livies) (DD R6TNIHE 5,000

Gaeaflsemall L (D TTMISHE) 1,000
DHSSHIOULILIQ (LPi1) RETTMISHE) 500
i eum sl L (O, R6TMI&HE) 4,000
eiigiics O\FSSW auTLens (. R6STNISHSE) 5,000

Seumd eurgl wseonefid Eeuneun b)) HhEs el

UL G Bed BHES 15%SH60s LMmis6rsSeiTmetT.

11 AF-2311




19.

Bm. Onsen senflell ammGasHeETs ap. 15,000560m8

QUL IQUTEDEOIT SHL6DITE EWIDMIS 6)STETOTLITIT

glbLeT SemeoLILTledr SLDIMeTT QUIBLDNEIISHENS SHemoTeHBS.

The Net profit of Mr. Siva of Madurai as per his Profit
and Loss for the year ended 31-3-201C.a:ter charging
the following items was Rs. 2,40,000

Rs.
a) Internet on Capital 20,000
b) Salary to staff 1,16,000
c)  Office expenses 3,000
d) Bad debts wiitten off 13,000
e) Provisicns.for bad debts 10,000
)  Provisions for Income-tax 16,000
g) Donations 10,000
h) «Iiepreciation 17,000

Depreciation allowable as per the Actis only Rs. 12,000

Compute income from business.

12 AF-2311




giemguleyerer . Heureflesr 31-3-2010L65T (LPIPEUEHLUILD
SpeTTEnLIL 6oL BLL &/ Lig BT GeomLibmens) LiedeuhLd

Senmisemen Fiflssliouig Guns em. 2,40,000.

1.
S)  wsev 155 aurlp 2),000
S  uewflwmeni &LbLI6TLD 116,000
8) Sigyeuens C1F6ve) 3,000
B enssLeT CUTSHESIRSWIS 13,000
2) QNSHELET RFHSS 10,000
2er)  euHLDTETIONT @818 & 16,000
6)  [HETE\&HTEmL 10,000
&) Gsuipmeord 17,000

FsrL JIpdSSIULL GSUIDMentD eh. 12,000 L GELD.

eflwn. vy GUIHLDNETISHENS SH6TTHBBS.

13 AF-2311




20. Compute the taxable income of Mr. Karthi from the

information given below :

Rs.
a) Taxable salary Income 75,000
b) Income from House Property
1) Let out house 10,000
i) Self-Occupied House 15,000
c¢) Capital Gains:
1) Short term capital gain 33,000
ii) Short terin capital loss 3,000
iii) Leng term capital gain 7,000
*v>-Long term capital loss 10,000
d) Other Sources:
1) Income from card games 5,000
11) Loss from horse race 2,500

14 AF-2311




&6 Qam@sasUuL@eTen eNufhisemeaTsd: O&TeIG Hb.

smigPulledr eurfl euBLDTETTSHMS &H6TTSHBBS.

erb.
o) efs@LrurL Fouer eupeuml 75,000
b 6B 616NSE euBHLDNEDILD
1) eunLems efiLi1pedhba) 10,000
i) &sw Guimiy 6frigedlEhe:! 15,000
8)  ePELFEIT SHSMID :
1) SmdW SMev Loy 6o ShSMUILD 33,000
i) GSMBW. SN eLPeSHENT HLLLD 3,000
1i1) B IL: HTED ELPEOSHEU DHSMUILD 7,000
V) BetorL &mev eLpevS6DT BLLLD 10,000

15 AF-2311




M B5T BEVhHISET :

1) &G 6NemeTwImiged 6u(HLDITEOILD 5,000
il) GSHewr LbemsLsHe0 HLLLD 2,500
ko
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AF-2312 BCSE1B

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Corporate Secretaryship
Elective—INDIRECT TAXE'S
(CBCS—2008 onwaraz)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions
Each questions carry equal marks
1. Define the term ‘tax’.

aurfl 61601 LISS6MS Fue™IU M.

2. What is Sing'c tax system?

@nenn aurfisf S wpenm 6TedTMTeD 6T6dTeur?

3. Wbha:sliable to pay excise duty?

seormed aulfl QFYSHFHID EWIMTMLILSSTW6uT wim?



. State any two process of Manufacture.

SWillL&&me QFWeOLIML g0 eTGSHENID BI6TuTeenssts: Fam).

. What is Customs duty?

amiseufl eresTmmed eredTeor?

. What do you meant by smugeiing?

‘BEMENSBHLESHE0 6T60TLIGI DL 15 Meug wing?

. Define ‘Inter Stete-Sale’.

‘ioBeorgsEhE SedLGWiLITes eflDLIEnesT - euemTLIM)I.

. Men:tiva the Categories of Sales.

sfipLienstTuilest LIGLILSSHEmeT SBILLIGS.

2 AF-2312




9. Which tax is traced to the VAT?

ehg eufl VAT-Lns wrblwenndasliiL g.

10. List any two needs of VAT.

VAT-et1 Goemeuuled eTCHenID SIetorioenest ouiilewaLILIBSS)5.

Part-B (5 x5=25)

Answer the gqu~stions

11 a. Distinguish betweer Girect taxes and Indirect taxes.

GmiTeps eurfl HM D idewMPs euflemwt CaumILIGSSIS.

(OR)

b. Staicthe special features of indirect taxes.

ewmps eurflufiesr fAmiLi] GuieoLsensT \siflefl.

3 AF-2312




12 a. Explain the different bases of Excise duty.

seomeo aurflufledr LiOGeuM) EuemSWITEST HHigLiLiewLSemer sfeurfl.

(OR)

b. What are the provisions regarding regisiration under

Central Excise?

seomed euflufledr & LHe) AFUICLSDHSBTE [HEML LPDMSHET

wng|?

13 a. What are the differences between excise duty and

customs duty?

seomed aufl&ELL; &'k aufle@d 2 siter CaumLITGS6lT Wing)?

(OR)

b. State the prohibited goods under Customs Act.

ahisafl FULSH6T S SOLOFWIWLILLL OILMIHLSEDET

asefl.

4 AF-2312




14 a. What are the objectives of levy of Sale tax?

sfipLieneor eufleflSLiNlesr CrM&ESMmISET Wing)?

(OR)

b. Distinguish between inter-state sale and intra-state

sale.

LDMBEOMISEHSHS BEBLBWILITET-ShDLIENEEHW DBe0SSNE&

2 _sitertent eflhLeneTUNEN B8 BUMILGS Si5.

15 a. Enumerate the'advantages of VAT.

AL saL @ e.Auiiesr (VAT) mettenioasener sflens:s.

(OR)

5 AF-2312




b. Briefly explain the salient features of TNGST Act.

SWOIHIG eawung efibusnen eufl (TNGST) srLgdetr Ly

BuweoL|BemeT F(HSSHNS efleurfl.

Part - C (5 x 10 = 30)

Answer any three questions

16. Discuss the Major reforms in Indirect taxation in India.

8pdwrneileo wedOAps eufluleor  61LIEHLDLIMEIEWLDUIT6DT

omevriESlullemests L efle:ms;

17. Briefly explain tke voncept of ‘Manufacture’.

‘SumiiiuneT 6o LUSHMS SHSHSLNS efeurl.

18. Explain the methods of valuation of goods under

Customs Act.

ahsafl slLsden S Ounprsemer WLAITE FuwIwb

Wpemmaemer efleurfl.

6 AF-2312




19. Describe sales of purchases in the course of Export or

Import.

ghmind Slveng BMEGWPESETET 6ADHUEDET 60605

Q\&MeTLpged L) efleurd.

20. Write short note on the following:

a) Turnover.

b) Total Turnover.

¢) Taxable Turnover.

Nesteugpeuet LIHM Fm G sueDIs::

) eflbuemest OFTe=

SY)  OWDNES 699,168 E1STEWS.

8) eaflsguiL éibLenes O1STEns.

skkok

7 AF-2312




AF-2313 BCSE2A

B.Com. (CORPORATE SECRETARYSHIP)
DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester
Corporate Secretaryship
ELECTIVE - AUDITING

(CBCS—2008 onwarac)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 =20)

Answer all ¢ucscions

1. What is Auditing?

S6eu0flSHemBUILIED ETETTa 6T60TE0T?

2. Give the meaniig of Statutory Audit.

FLLAPEDT - HTVM&5H60S 6IGITLISET EIIMHEIT SHS.

3. What is Working Paper?

Q\FUILPEDMS STETHET ETEIMITED ETEITEI?



. Define Internal Control.

Si&&HSLELUTG - S60&HSHETID S(Hs.

. State the meaning of Vouching.

SMENDITLIE) 6T6ITLISES EIIMIHEMENT Sam)s.

. State any three objectives of Vouching.

gnestpmieNlest TGSHENID CLPEL:Ty SBHMEHSHMISHEMENT Fam)s.

. What is meant by =raluation of an asset?

6185 G|556m6 D LLILNBSH6D 6T6TTMTED 6T6T60T?

. Defire Verification.

FfuM&EHe0 - GEV&HSHETID &([HsS.

2 AF-2313




9. What is audit report?

S60fl56m8 AHMEHENS CISTTMITED 616360 ?

10. What do you mean by Misfeasance?

pempLILNemLp erettLIEnS LIHM HBefliT Hmleuesr eiuorenr?

Part- B (5 x5=25)

Answer thecutecions

11 a. Explain the scope of auditing.

S600fl&emaUledr 61606 =D T 6flens:&s.

(OR)

b. What is ciror? State it types.

eI eTETMITED ETEITEN? SHSETT CUHSHSHET UITEG)?

3 AF-2313




12 a.

13 a.

What are the disadvantages of Audit Programme?

S60flE6ns C\FIWED S LSSHET SEMDSET UITeDeN?

(OR)

State the steps to be taken by tlie auditor before

commencing a new audit.

UBsTs Senlsmse OSTLMIENSHS w6t Gmeasmerern

BeUETITIQUI [FLEVIQE:EMEHESH6IT UL 6w 5?7

What are the deiies of an auditor in examination of

vouching?

DpBMIE  FLpsemer gFneipmuley QFwWSeirm BumTE

S6u0flSEL ITenl6tT SLEMLDSHET WITEneN?

(OR)

State the importance of Vouching.

gneTomueilelT (P&HBWSHOUSMS Famis.

4 AF-2313




14 a. Distinguish between vouching and verification.

gnedtpmile] HMID FAuMigsed CaumLIBSSIs.

(OR)

b. How would you verify the following liahil:ties:

1) Creditors.

i1) Loans.

NedTeu(HLD QIUMMILILISEDSIT eTcus: M| SLmrimi:

) sLelBEHMTS6.

Ob) HL6TTSEIT.

15 a. What are the liabilities of an auditor to their parties?

EPETTRIND [BLI(hSHSTE & 600l &emawmerilen \LIMmILIL 6T

Winex su?

(OR)
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b. What is the liability of an auditor for negligence of

his duties?
S60fl&ems WIMETT S60Tg &HLEDDUNED & 61 60TLOI65TEMLD & 8 IT60T

Siaurg OWLMMILILSET WITeneu?

Part - C (3 x 10 = 30)

Answer any three questious

16. Explain the various objectivez ¢f auditing.

Sevflsemauiliedlest LiedGeum SinifsamiseneT eflens&s.

17. Describe the syztein of internal check as to cash receipts

and cash pajznents.

QIN&S 62155 DOHMID OITES O\FNSSHIENS CSTLITLITE

SissFrmle] wpemmulenest efleuflss.
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18.

19.

Explain in detail the vouching of trading transaction.
WML [BLEUIQRSENSHSHENET SM6ITM| SpUle] SFUISHD &MS S

NesGs.

Briefly explain the valuation and verification of:

1) Fixed Assets

1) Investments

i11) Patents

iv) Inventories

NetTeu(BLD C\FMSG IS Weir SfLIMTSSSD DOHMID SINBHELD

SM&GI FHEHHNG NeTs:Es.

) Beweorme O\ENSGISHSH6T

S paOB&eT

&) smiyflewp

M FISSBLYSET
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20. Discuss about the civil liabilities of an auditor.

senflsenswiflesr 2 femwuiwed Qummy ubhr) efeuflss.

skkok
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AF-2314 BCSE2B

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, NOVEMBER 2010

Fifth Semester

Corporate Secretaryship

Elective—COST ACCOUNTIN G

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 = 20)

Answer all the juestions.

1. Define Cost accountiiig.

SIL&56M606) &5 Sl W60 auemTWIm).

2. Explair-Variable cost.

LIMID L_SHellenevenuwl 6Sl6mdEs.



Define Bin card.

QlaeTse 3wl B 6V&SH6TID Fnlm)l.

What are the two levels of material contre! 7

epeoLIGlLIMmeT SL_(HILILITL 1q.607 @), 0L L:BIS6IT Wieneu ?

What do you mean by apportionment ?

udliey Glewiged umn £ Mleus wrenen ?

What is labour. turnover ?

QamfleoraiT &pmd eTesTmT6D 6TEBIET ?

2 AF-2314




7.

10.

Define Overheads.

CnClFevayse euenruimi.

What is notional profit ?

L|65)6VT6L] 60MLILD 6T6BTMITE) 6T6TTEVT 2

Give any two examples for s2!ling overheads.

alpLenerr CHOlFeV6;HcHEHHTES 2 FMT6ewwrid

B\ revTIq M6 F(HS:.

What is work in progress ?

BenL_QLmib Lewfl eTestmmey 6T6tTORT ?

Gz enid
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Part B (5 x5=25)
Answer all the questions.

11. (a) Prepare a Cost sheet.

Rs.
Raw materials consumed 80,5600
Wages 20,000
Direct expenses 10,000

Factory expensesat 100% on wages.

Office overiicads at 20% on factory cost

Selling and distribution overheads Rs. 5,000

Total sales Rs. 1,70,000.

4 AF-2314




Q(H L Sselemeols LIL lquieney swmy Cl&uis.

€.
BISTLUL L epeoiGlLm@m e 80,000
8060 20,290
Crrig& Cgeveyser 10,000

Qarflnareney ClFeve,se 1 neflullev 100%

JAVeuews Gunbeoeasst - OgrHinerened

L Sselemed 2%

elpusnen wHMID LS Te| Cuonolgevaser em. 5,000

Qwrsg elpLene em. 1,70,000.

(Or)
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(b) State the objectives of Cost Accounting.

SIL556N6m608 S6vtT18S W66t G885 %S M6 o lh)|5.

12. (a) A lorry load of material of mixed geods was
purchased for Rs. 1,00,000. Later an these were

sorted out into the following categories :

Category A 1000 units selling price Rs. 20 per unit
Category B 2000 units seiing price Rs. 22.50 per unit

Category C 2,400 units “._selling price Rs. 25 per unit

Find the pu'ciiase rate per unit of each category
of the maieral assuming that all grades yield

same rate of profit.

LAAENS FTLDTEISHET &H60Ih ClLIMIHL_S6IT 62(1F eumfluilev
Slammgeo QFwwiinl L Cgrens en. 1,00,000. @ks
Qum@Laer n@ SpasenTeutmn euenslLBSIL

UL_L_6vT.
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amsA 1000 e0@s6 i evdles ellpLiemest elemev em. 20

aemsB 2000 gev@aet 1 jevdlen ellmLiemest ellemev em.22.50

aems C 2,400 ge0@sat 6 jeudlen edlmLienest. Mienev ¢m. 25

6T6060MEUEMS CILIMIHLSEHLD 6VMLE65S FIO I6emeled
FLIgSSH[HD 6Tev Hlenensg s bicnemnt(h eeubleum(m
auena ClUMHEHSHGLW, e SHNSDaTes QST S0

enevenw sevot(HIL g &&oiL0:

(Or

(b) Find out EOQ from thetollowing data :

Annual requirements 1,600 units ;

Cost.e’material per unit Rs. 40 ;

Cost of placing one order Rs. 50 ;

Carrying cost 10%.

7 AF-2314




13.

(a)

Sps sTamIld FHeueosafledhHg Hasmes o emev

S| 6TTEM6LUS SHTETETS.

Caemeuae oy emw1iqM @ 1,600 j60@&6T

(1 | evdlen peoLIGILIMHET JL_S&HeN™ed oh. 40

Q(H SeiliLitener QB eugnane Feve] emH,50

(DS eu(HeusmaTen e a| 10%

From the following data calculate the labour

turnover under F!ux method and Replacement

method.

Number of workers-at the beginning of the month 500

Number of wirzers at the end of the month 600

Cuaring the month 25 workers left. 75 workers were
recruited of these 10 workers are recruited in
the vacancies of those leaving while the rest were

engaged for an expansion scheme.

8 AF-2314




$Cp Oar@ssuulL  aMurrssfled kg
Qgmpleoneny &HHAenw LiemsHen (PewD LHMILD
udleonemoihg (Weon g Sweaunmled sewrsdl(Hs.

LGS e Hleusaglev Ggfleonsmisefles srevvrenflésns 500

wrgsdlen @miSlulled Glgmfleonenigerflen etevremflisews 600

KLLMD wIgsSHe0 25 Clputdieonsnisst eleodls
Qeenmesty. 75 Qamfleormysst CsHinbolsH&sL
ulLery. @dlev 10 Cigrfleomenyaser eflevdla
QessTmeuisEp&Esraal) wHHeaFser elfleunrss
S L sHnanse b 3siHolsH&s UL L 6.

(Or)

(b) Using the.tollowing data, calculate the earnings
of aworxer under :

(1) “Halsey plan

1) Rowan’s plan

Rate per hour : Rs. 2

9 AF-2314




14.

(a)

Time taken : 15 hours

Standard time : 20 hours

Yer eu@mb elurmsensrl vwest (5:5F 6
Qampleorefluflen earfliGensg Spsaetn::  LpepMS6TTED

&H65T&HSE (D)5,

(1) anmeoGe L (pewm (i1) Grreunss SL_L_(pewm

sarglw el wenfls g em. 2

(D585 OsmenTis prL : 15 wewfl

S G 20 wewfl

Distinouish between Cost allocation and Cost
apportionment.

OIL &S 5HS_1IgN@GW wOHMID uSFHSeflitnEn

BLewGuw 2_etem CeumiumG &6 wnemeu ?

(Or)
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(b) Write a note on :

(1) Wastage

(i) Spoilage

dml @NILIY euenrs.

(i) CeswenLhg CLTMHT

(ii) 2 (H5@HM6V ) LILIMH6T

15. (a) Whatis processcesting ? How is it differ from Job
costing ?

LI (LPemM. T a7 8T&E) 61660 6T6sTes 2 LI6wul (Lpemm e

B6w18:8.50l bl &l steueutn CoumiLGSH g ?

(Or)

(b) A product passes through two processes. During
March 2010, 500 finished units were produced
with the following expenditure :

11 AF-2314




Particulars Process A (Rs.) Process B (Rs.)

Direct material 3,500 1,600

Direct labour 2,500 2,000

Overhead expenses amounted in a.l t» Rs. 1,400.
They are to be apportioned on the vasis of direct
wages. Ignoring the questiorn ot =tock, prepare the

process accounts.

Q@@ Curmer QrenT(h Uig(pennSensT &L kg
Qgevdlng). & 2012 Sp&etamid Claeve| s EmhL6ot
500 Hlewmeymm <160 (H&6T SwmfléeasLiLL L evr.

efuyd uigpeorm A (em.) uigpeom B (em.)
Crrg Qurmy.ser 3,500 1,600
Crrig. = 6 2,500 2,000
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16.

17.

Cursswrer CuoHGlFeveaysst ep. 1,400. g
Ll (PemnaEnHsHE Gy g6l eigssler uflipgeflasiu
Coauesr(@w. Fraflplenu Lnsseaflss Cgeneuuwmer

LIg(PenD L 556060608 56518 @SN SWTfleHsea .

Part C 2 x10=30)

Answer any three questions.

Explain the classification of Costs.

L sselemeoullwed st euem nesmem elleulfl.

Two components A ana b are used as follows :

Average consuniption 40 units

Norma® usage 50 units per week each

Minimum usage 25 units per week each

Maximum usage 75 units per week each

13 AF-2314




Re-order quantity for A — 300 units and for
B — 500 units

Re-order period for A — 4 to 6 weeks and for B—2 to 4

weeks

Maximum lead time for emergency purciiases for A—1

day and for B — 2 days.

Calculate for each componei?

(1) Re-order level

(11) Minimunpilevel

(111) Meaxiznum level

14 AF-2314




(iv) Average level

(v) Danger level

@rewi(@ samset A wHmib B Spasaeumm

LwestU(HSSLILIL_L_6vT.

grnefl BisTey 40 960 @GS

gngnyewt Lwerun(® - ee1loamesmid 50 60@&Ha6T (h

aumsSHnE

&SODhS L& Lwun( - eelbleursmn 25 60@ger
RO UMSSHE

SFle Lo weun(® - eeubleunssimid 75 2160 &HS6T (H

QUNTE & D(&)

N SenewT o] - A 300 wpmid B-500 eo@sern
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DN pemewT HTeod - A, 4 (pgev 6 eunrrissT wHmb B,

2 P56V 4 QUNymIGET

Sleusr Q&TET(PH ST HFBLIL & SHT60 |66

A-1 wrem wpmin B-2 prer

6u0leUM(F Fn. M1 &L

i)  wn emewt Hleneo

(i) @HODBHS 611 In D6V

(iii) 2 && eie] Hlemeo

(iv) _ernefl gradlmuy Hlemeo wmHmIbD

v)  Sumu flemevenw sesrsSl(Hs.
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18. From the following particulars workout the earnings

for the week of a worker under :

(a) Straight Piece rate system

(b) Differential Piece rate system

(c) Halsey premium system

(d) Rowan system

Number of work.ng hours per week 48

Wages per hour Rs. 3.75

Rave per piece Rs. 1.50

Normal time per piece 20 minutes

17 AF-2314




Normal output per week 120 pieces

Actual output for the week 150 pieces

Differential piece rate : 80% of piece rate when
output is below standard and 120% when above

standard.

$Cp Oar@ssuul_(Remen &l Ly i & 61fl 68) (15 1 &)

Qs mdleonsm(h& @) (1 eUMTE M nest 2ordluisens

(a) Gy 2 LI #268 N&lgD

(b) GaupiLilL 2 (BLILIg 65 penm

(¢ eupme0Ge (emerng Sl L 1b

(d) Grmeunest SlL_L_1b gy Huwieummlen Lig SHewtadl (D\s.
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Q@ eunrsdHnanest Ceuenev wenflaefler srevvrenflaeans 48

Q@ enfl&snes &6l ¢m. 3.75

Q(H 2 (HUIg S Ten blgnens eh. 1.50

Q(H 2 (hLIgSaTen Fngrresst Crrn. 20 1) OlL_miger

Q@ eunrsHnaner srgrren 2 HusS emey 120

2 _(HLILILG&6TT

Q@@ uMISSle0 2 MHiuHs NFwwit L emeu 150 2 hHLiLIG Se6T

Caumul L = pliug 655 el : Hlyewrulssiu L

Slemellm (s
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Gopans 2 HusH eme| QHmeEn Clumps 2 (HLiLg
655 Faedlulled 80% , b Fm(HBHVMEs QH&HEGW CluTg

120%-1b euiprisLiLiL Ceuessr(HID.

19. The following data were obtained from the buaks of Sun

Engineering Company for the half ycar ended

315t March 2010.

Particulars
P,

Direct wagess Rs. 7,000

Direct material Rs. 3,000

Employees — Nos 200

Electricity - kWhe...8,000

Light points.[Nos 10

Py

6,000

2,20u

150

6,000

15

20

Production Departments

L3

5,000

2,000

150

6,000

15

Service Departments

S1 Sy
1,000 1,000
1,500 1,000

50 50
2,000 3,000
5 5
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Asset value—Rs. 50,000 30,000 20,000 10,000 10,000

Area occupied

(Sq. meters) 800 600 600 200 200

The expenses for the six months were : siores overhead
Rs. 400 ; Motive power Rs. 1,500 ; Electriclight Rs. 200 ;
Labour welfare Rs. 300 ; Dentesiation Rs. 6,000 ;
Repairs and maintenance Rs. 1,%00; General overheads

Rs. 10,000 ; Rent and taxes-hs. 600.

You are required‘tv nrepare primary overhead
distribution summery for the departments showing

clearly the basiz.o: apportionment where necessary.

S0 HisissLuul_(heren edurrmger g @ epSlesfluiflms
soinaflulles Uss555)60 hhal HeoTwnest(h @midwimes
31 & 2010 &@ CupLliLl L g).
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euriiger 2 HusS) gleomaeT

P
Criws
5069 (eb.) 7,000
Criws

Qunmsr (em.) 3,000

Qzifleonemigeit-

6T600T600T 1S 608 200

Wlest #55)- SlGeonm

eumL_en Loevuf] 8,000

P, P,
6,000 5,000
2,000, 2,000

150 150
6,000 6,000

22

1,200

1,500

50

2,000

Ceemeu glemmasi

1,000

1,000

50

3,000

AF-2314




Wlewr 661 s 61T-

6T6v0T600T 1S 608 10 15 15

Clens g

iy (em.) 50,000 30,000 20,000

SInIGuns @L_1b-

F&ITISL LT 800 600 300

10,00u 10,000

200 200

SpMIDNG HTeVSS 60 TOLIC L GlF6v6 6T eu(HLOTD) :

Smiiuenm Gui,AAe eoe|s6T em. 400

Bwsg efise.F emH. 1500

Wlewt exllemés (g, em. 200

Qg mflevomerni mevewt em. 3,000

23
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20.

GaWimewid em. 6,000

L& UMF&@w woHmib ugmofliy Qgevey em. 1,200

Clurg ConolFeveser en. 10,000

eumL_ena OHMID eufl em. 600

Clzevay&6T JEMTFHMSIW|LD. 8 0O DSEHSHE CHemeuliL(HD
QL rmseafleo GUuTBSFWTer (Peupulled LSl THgefls s
waeemw GCuonoleea idlie] srl(GWL UL iqwened
SW &S L.

Product X is-outained after it passes through three
distinct precesses. The following information is available

for the cneration :

24 AF-2314




Process

Total I IT III

Materials 5,625 2,600 2,000 1.025

Direct wages 7,330 2,250 3.680 1,400

Production

Overheads 7,330 3 — —

500 units at P3. 4. per unit were introduced in process I
production overheads are absorbed as a percentage of
direct wagec. The actual output and normal loss of the

respeCLf ve process are :

25 AF-2314




Output Normal loss  Value of

Units on Input Scrap unit
Process I 450 10% 2
Process 1II 340 20% 4
Process 111 270 289% 5

There is no stock orwcrk in progress in any process

show :

(a) The thiee process accounts.

(b) T'’ne Abnormal loss and Abnormal gain accounts.
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ppeTm Lig(pemmaenst sLbhg D@ X eteorm Glummsm

SlemL_sdestmerr.

LILg (LPE® M & 61T

Qurssn 1 II ITI

epeoliGlum@mer 5,625 2,600 2260 1,025

Crrig gned 7,330 2,250 3,680 1,400

2 puss

Cunolgeveyaer 7,530 - - —

21608y, ee6vTm) eh. 4 ez 500 ev@sen Ligpenm I-ev
aupmislLl L er. 2 HusS Cuonmblaeveyser Corg Fned
Ndlgsder Blsliu@dlermen. Ligwennuilled 2 nHuGH

LDDHMILD FTSMTESOT hL_L_5156TT6L6TT.
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2 Huss Lig(peop Bievipeay  serflly
SI6V(GHSH6T Sj6udlevt 188 Qunp g6

FTSHMTewT HLL LD S| 60

PENIHS
Lig(penm I 450 10% 2
ug(pemm 11 340 20% 4
ug (pemm 11T 270 25% 5

616S Lig(penmullepd s sy SeoLwim Liesfl (pestGemmid
SevLwing). srewTiinu: () ePesTm| LG (LPenD &HessTé: @6
() SEMTHNT6RT HLLID WOOHMID HFTSTTETT 5 Ml

&6TVTE (G S6T.

skkok
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